AABC 9} ADEF = @247} 3 : 5 9 -2 = o|tt. AABC = 27cm?
d ufj, ADEF 9] §lo]& ooz}

» E cm?

> ®eh 75cm?
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AABC ¢} ADEF 9] Yo] o] H|=
32:52—9:95

ADEF 9] Y{ol& xcm? 2f otH
9:25=27:x

. x = 75cm?
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AADE, AABC O] ©3H|=16:28 =4:7

Yoo H|=42:72 = 16:49 o] B2

AADE : oDBCE = 16 : (49 — 16) = 16 : 33

48 : oDBCE = 16 : 33

-.ODBCE = 99 (cm?)
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OF:FA =2 : 30|31 NEHS
DABCD 7} 100 em? 9 ), A2 #3o] A
o2 Tatolat,

> = cm?

> ®E . 84cm?
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oABCD ¢ oEFGH

S2H7E5 : 20|12 = Yol vl

52 : 22 o]t}

100 : OEFGH = 25 : 4

OEFGH = 16( cm?)

s (A ER O] Wol) = 100 - 16 = 84(cm?)

Q



e YT e A mope] 5o A
ole] 2 /1A Bg Yot 15t )
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» = cm?

o] o|7} A9 3 olmE = mo] BFou|i 3. 4 o|th,

T f%o] Bulo] Hl&= 33 : 43 = 27: 64
27 : 64 = x: 320
. x = 135(cm3)
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Zol7h 3.2m & Upehbe 79| ol & atelet,

n
=

Im = 100cm ¢l Y5F9t7]7} 80cm 2 YERIE R AR Aol&
x 2F 5FH 100 : 80 = x: 320 ©] 22 x = 400(cm) = 4(m) ©]t}.




